HAKO B v FRAE /| AZ / Contents

EL<HAEDE THERLET, [/ IERMIAERNER. /Assemble and use correctly.

TUBE UNIT e —FETTS TR R
RERE ARBIRTEE () slgEEa ERHRH
ABLYF Tube unit Usable solder Guide pipe Applicable soldering iron
7N > .
g H diameter(® assembl
EWifsHPAZE | EFFM / Instruction Manual AERT @) v
Hexagon wrench * RETS,
H& B ‘B,
* Sold
AREMHIIZALEY 2=y PVHOF 2—T2=v b (F2o%kd%47) TT, E=ZXNYR5If4E separately.
AR 2 IR AT 2 B (KRR, R (B ©)
With beaded cable tie (qty 5)
This product is a tube unit (bottom-feed type) for the solder feed system.
0.6 mm, 0.65 mm* B5268
= = FM-2027,
A\ TR /;EEEE/CAUTION €5056 0.8 mm AT FM-2028
AT TR THEARBITVR L EICT> TSIV, RIFEDOBBAHD £ 1mm B5270 FX-1001
c EIBICNA TEAIFAVTLIETWV, BIBT3R/NDHD T, C5057 1.2mm B5271
s Fa—TEFODMIFIED. BRABEICHIFTERLED LAVWTLIEE L, 0.6 mm, 0.65 mm* B5272 FM-2030, FN-1101,
Floo BEULEICIBALEZEEDFEITREVWTLIEIWV. EE5BIFARDEERIR”NDNHDET, C5058 0.8 mm B5273 FX-8002, FX-8004,
cRBATSEDIZ Y T RARR LERSEHEZFERT 258, N1 TOERHED S TR DIZAZHTE 1 = FX-8301, FX-8801,
BESICIBARRLEBERELTIREV, BEDEBIELET, mm FX-8805, FX-9701,
IBARE ©0.6~08mm:2mmblE/IFARE dl~12mm:4mmblt €5059 1.2mm B5275 FX-9707
CAFATEDEE o TIBE. EONA THBOFREIFATLCTETRD . BALZ BN LIEHETFa— *HAKKO 374 13D 0.65 15 L TWEH Ao / *HAKKO 374 RR3ZHE ® 0.65 BIRSRETE. / *HAKKO 374 does not support a
TaAZy bHEEDNA THBEZRWTLIET L, solder diameter of ® 0.65.
c HEBE@RICIFMEBRZEAL TSIV, - KERZSELBHWVTLIETL,
- TOMBKREBHONBITRIFITHHEVTIIEEL, - :;B = U Z I‘ / EEFI::Eﬂ / Parts ||St
 EERIANEIELE, TAITEERE. AbAA LI
- RMBHEHETF, BRITTRRISHRIEE, o  BAES g . e
i i N > | B54R5R / Part No. % | B8 / Part name 11#% / #35#%& / Specifications
- HEEEERARNRERITEE, BOERFER = " _ =
HA, SRR ERRENIE, TRIaASSmMISEEE, B5285 E—X/\> K/ EERERS / Beaded cable tie 5JAD /&&25/ qty 5
- HEEBHBERNFER T IRHLRBEREIE, FRTEHLBE, EHRUERTRNEGFERRENT, X B5283 NAL > F [ 5AIRF | Hexagon wrench SHOL5mm/¥58 1.5 2
BHIEE, % / Opposite side 1.5 mm
IRBHER 0.6 E08 N 2 NEMLE EHER 1 EE120E (4 NEULE
- NRIFHEE, FHiGs I EEHARLURRSEMEIIMNE, WITIRHERERIE I EEESRHBEEENT,
- BTN, FEFERRERN HAKKO S, - SA7XEXRER.
AT A IR E . WHAIKKO YHAKIO
- Assemble when the tip is cold. Failure to do so may cause burn. Bk =« rélglggggnponATION
- Do not bend the pipe forcefully. Doing so may cause damage. https://www.hakko.com 4-5, Shiokusa 2-chome, Naniwa-ku, Osaka 556-0024 JAPAN
. . = NN = TEL: +81-6-6561-3225 FAX: +81-6-6561-8466
- Do not use the product if the tube is folded or bent at a sharp angle. Eﬁ’_‘s;o(gg‘)‘ggg’ffé%ﬁ%’f’iﬁ E(ée%gszs-oam hitps: waw.hakko.com E-mail: sales@hakko.com
Also, do not feed more solder than necessary. Failure to do so may cause solder clogging. Uoglflf\ﬁgl\ci NAHFAile)Iﬁ;roED%CTS e
- If using the solder return amount adjustment function with the solder feed system, set the solder return I%F;‘éel’aéz;’fi%‘i\ A (661)294-0096
amount so that solder of the following length remains from the tip of the pipe. This prevents clogging. hitps://www HakkoUSA com E-mail: Support@HakkoUSA com
Solder diameter ® 0.6 to 0.8 mm: 2 mm or more / Solder diameter ® 1 to 1.2 mm: 4 mm or more TEL 2817 5508 FAX. 25000217 T
- If solder is clogged, warm the tip of the guide pipe assembly with a soldering iron or other instrument and AP O e e cogere et
remove the guide pipe assembly from the tube unit after dissolving the solder. :E;I)_s:-?mﬁ;lkzﬁmety-ooésmail'sales@hakko com.sg EIERE
- When replacing parts, use only genuine HAKKO parts. - Do not modify this product. Please access the code for overseas distributors. % 2023.02
. : : https://www.hakko.com/doc_network * .
Do not perform any other actions that may be considered to be dangerous. © 2020-2023 HAKKO Corporation. All Rights Reserved. MAO03179XZ230207




H #837T / #82% / Assembly

(1) IFARECTZFa—72y FMCIDHITE T, /(1) HREBEEHGEREB, /(1) Attach the soldering iron to the tube unit.

FM-2027, FM-2028

1. AATTERIL b~ (M2 X 10) 21— TERAHR
BEHT. AN—EHN L E T, EEHAERIO
Sl i rt i
BRI/ AR (M2 x 10) 3 / eeve insert opening

HTHER.

Loosen the hexagon socket head

bolt (M2 x 10) and remove the cover.
2. MEBE R —TERAANZE

bEFRY,

HERHEEERERD.

Align the tab to sleeve insert
opening.

FM-2030, FN-1101, FX-8002, FX-8004, FX-9701, FX-9707

1. RABTMIERIL ~ (M2 X 10) ﬁ 5%?5

EEHT AN—EALET, ; 1
- o Groove

SRBAR/< MR (M2 x 10) It /
RTEE
Loosen the hexagon socket
head bolt (M2 x 10) and
remove the cover.

2. MEfEEBTEDEE T,
& ERHEEE,

Align the tabs to the grooves.

FX-1001

1. RAENMEERIL (M2 X 10)
DT AN—ZEALET,
BRERS AR (M2 x 10) I
HTER,

Loosen the hexagon socket head
bolt (M2 x 10) and remove the cover.

2. CTEZADNMBICEDEF
3-0
THIRB R B ALE Ao
Align the handpiece to
position A.

FX-8301, FX-8801, FX-8805

1. RAENMTERIL b+ (M2 X 10)
DT AN—ZEALET,
BRERAEE (M2 x 10) I
HHEE,

Loosen the hexagon socket head
bolt (M2 x 10) and remove the cover.

2. TTHzERNOARAICELRA
HETo
IR EEBEFIEE S FHE A
Insert from the handpiece in
the direction of the arrow.

(2)ED N FHH& (BUSE) Z2Fa—7 2=y MCEDFITET. [(2) 1§518EHRE (5E) EEHHEREB, | (2) Attach the guide pipe assembly (sold separately) to the tube unit.

EONA Tz ZE LAATUBEZREN (KIZR) L5 RARNEREZVRILETEELE Y,
BASIHEHS, ARUE GRE1), LARSNAREEEERE,

Insert the guide pipe assembly, adjust the position (see figure 1), and secure it with the
hexagon socket button head bolt.

RATTERZ VRIS (M2.5 X 4)
RI7NAIRE (M2.5 x 4)
Hexagon socket button head bolt (M2.5 x 4)

EONA RS
3IEEHES
Guide pipe assembly

X1/ & 1/ Figure 1
#Bh5 EEHDS
fAImEE IEmEE
From the side From the front

FERICI0° U EC TEHZE T EIFATLARLENT
fIiBNIn%xd,

EEHRRISIRHITED 00° ML, BRBNBERRE.

m If you turn the handpiece by 90° or more after
adjusting, the position of the solder is shifted.

180°[El45 / 180° 1iE#% / 180° rotation




